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3 Figure 2-18 shows four paths along e o (e L (51 g 1y S gt s s (
which objects move from a starting - S deg Lo Ll 81 by g S (i
point to a final point, all in the same 9 i i ’ ’
time interval. The paths pass over a .8
grid of equally spaced straight lines. r—3
Rank the paths according to (a) the s )
average velocity of the objects and (b)

the average speed of the objects, great-
est first. Figure 2-18 Question 3.
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8. Four point charges have the same

magnitude (but they may have different Ly 12 @ @ 4 g
signs) and are placed at the corners .
of a square, as the drawing shows. @ — — - —
What must be the sign (+ or —) of By £ F = =
each charge so that both the electric © + + + 3
field and the electric potential are zero
at the center of the square? Assume 94— q3 o+ _ g _
that the potential has a zero value
at infinity.
¢ CUTNELL odd daa y5 o215 puties (0+ Jlio
o Ay | ol Gallae (om0 ol S 53 ¢ D3I R (5B RSN 5l £
4 42 ity ot (| 30 30 53 (s il e s
p -\2199)3)%&\)&&)&5&0-\&40@3 Wilg e At 3o s
Q>+, Oy>+, Op>e, Q> ()
Q>+, Oy <+, 0Op>+, Q< ¢
Q>+, Oy >+, Op <+, Q<+ (¥
qa q3 Q<+, Oy<+,0p<+,Ce<- (¢

S o ¢ ypaie 53 alides Jad
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02 2 0L QIS (G g At § A 3 ygi A 1y e (0 ) 02 (it ) I D [yl g0 (k>

i A gl ¢ (ot D (| LSS 2

*38. @@} The drawing shows a bar
magnet falling through a metal
ring. In part a the ring is solid all
the way around, but in part b
it has been cut through.
(a) Explain why the motion of the
magnet in part a is retarded when
the magnet is above the ring and
below the ring as well. Draw any '
induced currents that appear in (@)
the ring. (b) Explain why the
motion of the magnet is unaffected by the ring in part b.
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